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Thursday, Jonuary 30 Example, revisited let cn-dut , so that
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But we have the more ebbrate version :
- x + 0(y) + 0(y) +04)
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, y > 0 :

((x) = [aB(Ya) + [bmAl -XC* +x issueey31.
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"Dirichlet hyperbolo method"
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We know log = A *1 .Using& logy +G +O
-3(5)=3(5) . 51s]

Ed = xly+Cot] Icke : use info about log
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-go + 0xy)) - X ↓ get into about A -

+Oly+) Specific formulas:
=

xygx + (22 -Dx +Oly +)
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=u to minimize the everten:

[d(u) = xlogy + (22-DX +OC) . · Exercise (compone tobath :
nSX

Reading: "Dirichlet divisor problem" Glogn = X(x - x +O(logx) -
Recoll the von Mongolt Hombdo-function nzX
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